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-30 -



RS AR L L RIS SRS SRS TR (1)

% B=V,cosd4,-V,cos(4, —A4) ,C=V,sinA4+V,sin(4, — 4,) ~
I (4-16)5k = V, =V, COS A = (~B) COSP+ CSIN@ - -voeermveeveeaenn. (4-1¢)
(4-2b)7% = ¥, 8in A = BSIN@+ CCOSP -vreermmermmemeaneeee (4-2¢)
GEILME (4-1c) B (4-2¢) Mzl @ 15
(V,-V,cos A4 )cosg—V,sin A4, sing=—V, cos 4, +V, cos(4; — 4,)
=V, cosg-V, cos 4, cosp-V,sin A4, sing=—V, cos 4, +V, cos(4, — 4,) ....(4-1d)
i cos(A4 +A,)=—cosg= cos( A4, +A,),sin( A4, +A4,)=-sing -
LA @-1d)=X
= V,cosp+V,cos(A4, + A, —A)=-V,cos A +V,cos(4, — 4)
= -V, cos(A4, +A4,)+V,cos(A4, + 4, —A))=-V,cos 4, +V, cos(4, — 4,)
S Vicos(4, +4,)-V,cos4, +V,co8(A; —A,)—V,cos(4;, + A, — A,) =0...(4-

-

1G)
% (V,-V,cos4,)sing+V,sin 4, cosg=V,sin 4, +V,sin(4, — 4,)
= V,sing-V,cosd, sing+V,sinA4 cosg="V,sin A +V,sin(4, — 4,) ....(4-2d)
= V,sing+V,sin(A4, + A, — A)=V,sin 4, +V,sin(4, — 4,)
= Vsin(4, + 4,)+V,sin(A4, + A, — A)=V,sin 4, +V,sin(4, — 4,) > &%%E
Visin(4, + 4,)-V,sin 4, -V, sin(A4, — A,))+V,sin(4; + A, — 4,)=0...... (4-2G)
HER 4-1G) 8 (4-2G)= B R s i Hy 5 —dHINE PRI E A" TR -

) BRENBVERLEINRERE

(I) BizZ(Case 1).FH) 4-1T)z0E 4-2T)z=NER HERX - AWENMIE B4, -4, >

-31-



PEHRT A ¥ 4038 ¢ EA 106 £ 10

EELE S ETEHA A, > AW GEARK B — KM F B %
(a) {ETHF A, NHIES 4R Ay E- [ LA, A EEERTAEA A, Al LA, A, E=0=A4, - A4, >
(b) ETHEL A, ¥ 5148 A,EF— T E 4 4% A,D > { D B 5 5 H 43 5B -
(c) BTHE: A, 5 4R A, EF—FEHF 4 A,C > [ C BiHEEHTE -
(d) FETHE A, (E—B15 4R A E PATHRATH & A, F - S5 ETHEL A fF— B4 4R A, F
FHEEIVH 4R > ERNH R EEE A F R -
(e) HHTHE: A {F—ELET 48 AJE SPATHIPATE 4% A H > (E4T4R A H B4R EF A,D M=
>GEL i GEE R EEE - B (FE 5 K -
(h MAEFHTERXG- 1T HEE S P HRAME S
(f-1) SHEE S B AL AB - ]Nfg S —n—Ay,— A, - 0 cos(4, + 4,) = —cosd -
sin(4, + A,)=sino - ifi V, cos(4, + A,)=—V,coso Bl B 4 B A, F &
B -
(f-2) =V, cos A, Bl fs#e & 43 A,C A H -
(£-3) Vycos(A, —A,) Bl B #5240 B A, D -
(f-4) B Sy d=n— A, » [ cOSPp=—cos 4, » sing=sin A4, - FLL 5 IUIEY
—V,cos A=V, cos¢ HIRmIEERE A G IEFR4RE ED -
DL B PUIEAE S w2 T 72 X (4-1T)= -
(2) BAEFE TEAE-2T) A ZHAEE 5 T BV E
(g-1) V,sin(d, + A,) 9 1 A 4 ES A F -
(g-2) —V,sinA, M{EH F4EE A,CATHE -
(g-3) —Vysin(A, —A,) {EE R 43 B2 A,D & (H -
(g-4) V,sinA4;=V,sing Hy{EEH R4 A,G IEE.
DA EEVUIHAES R R T T2 (4-2T)= -

4 As

Az
%~
/:}i Az /%1:}\
PN "7
Pig .
e ﬁ &5

-32-



) R R A ki T RS AL WAEE: LRl

(I B (Case )iy 4-1G)XE (4-2G) =W RN - AMENAIE Bl 4, — 4, > 35
B LE 7 EEA A,> AW GEREK R —REFEERR) -
(a) TETEFA A, NHIES R AL E F LA, AEGERTERA A Al LA, ALE=0=4,—- A,
(b) ETHEE A, W54 AE(F—FEHHN G A,B > i BB 5T H HACH -
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sin(4, + 4,)=sin@ - V,cos(A4, + 4,)=—V, cosOHN k#5245 A,G 1y
BiE -
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